y

phe

Objective
(u"/’)u../lr’bf‘ Paper Code

20 A 2230:8% 2SN v e, 8111

a.u{_;_l,.):lr(aﬂj.‘ih?&w&vlzhwnc_ 9~ u:zl:éf(rJ¢V£Jlrﬁ{QKL}‘£ - éé-)l) 2 C «B :A.:.l,fﬁ.'-@k.’.’,dlrﬁ

b 2l i e §i ST SN, L romsie gl

A
1

b E B | A Questions / Uiy e
Jug Jﬁﬂl; ) Jir_,”fl | ;.J/KJ”&;JU*TJ} |
_Thiee years Four years Two years One year | Period of measurement of national income is:
0101 s ,_,ifb’;b’ RVLEA ?LJliucu.Vglbldlﬁl 2
. Rentof land Scholarships Car rent House rent | Transfer payment include: '
K{,id/ LT Bl KUK :c_Jﬁn’J@‘iﬂj 3
C lio ; . . . " iy
f___i::;?il::i]iliulrc“ Micnme Rate .O‘f interest Iﬁ\ estment | Speculative demand for money is a function of:
L B L F G S e A A eV LG S| 4
: Crossed cheque Order cheque | Traveler cheque| Bearer cheque | If two parallel lines are drawn on the left upper
. ___|corner of a cheque, this cheque is called:
wcai/ ...Cd_v"/'f)’} [ &6 Ay S Ll S| s
Non-scheduled Industrial Scheduled |~ . : -
. Bank _Development Bank C:fnlr_a! " Bank Cooperative banks are: . gzull
(IR | g ST ES A i Ly Lrtg_ﬁd}f&cu.’uﬂ 6
HIMEBERAT | (CentrlBRKOT | foderal sk City Bank | The name of Central Bank of Pakistan is: )
i Pakistan Pakistan B
- F Ai¥o Ui S# il r_t‘/r...wb;ci:'(f’ S| 7
. Customer Shopkeeper Wholeseller Producer | The burden of an indirect tax is born by:
Cshidw s G Py PSS Seppind Se L erF| 8
) : : ) : Monetary | The expenditure and tax policy of the government is
1 IFiscal policy Labour policy  |Industrial policy policy called:
<A il dmds oy AP St e Sui?| 9
‘ - Visible and Visi s : : = )
» Services invisible good isible goods | Invisible goods | Balance of trade include:
n T LS | Labgag W ool | 10
i R chk:, ___j__Adam Smith Marshall David Ricardo | Theory of absolute advantage is ed by:
d/fLS‘L b .,'_',Jt;’— g o X JUL-Q’L 11
; Fishing Services Trade Agriculture | The biggest sector ofpﬁ(‘t‘?\h\ y is:
| SULEs | Seitu) | duitorf | i D & L Sl 8| 1
i Increase in 1 ; Increase in Increase in
esRpon ncrease in debts e S Acceler\ 951‘? pital formation needs: i
.___txpenditure :
! O Oy O B aﬂl’/b’;:"‘;f-‘i 13
*
| Minerals Trade Agriculture | Industry | The problem of water logging and salinity belongs to:
..':.lvtl-’fdz,? U‘?J)ijw’ I‘f{;lﬂ.-f ri/c{._v.;b ’[/(’L’(C/J;T'jf/idf-é./djﬂfgr‘ 14
Provision of Farmer's Which program was started to control water logging
i Land reforms fertilizers associations | Scarp program | and salinity?
Y AUV} WA S e T el :OEL/GL;,;J?,J“&”-;‘A 15
. Labourers Unemployment Population Trade Better transportation services increase in:
' o9 WL/
| - g - Ml .?_duf,;_,ml_.lrm_mu 16
Lahore-Islamabad Motorway is called:
L& LB Legdy | SELY e SoUmnlel b SSleed| 17
. Cooperative " Commercial S b
;. bank Scheduled bank | Central bank bail Monopoly in issuing notes:
i = " — 4 . e
ke $in e | Supsiae e Bndmasffesdotosl| 18
Federal Finance | President of |Responsibility of federal budget preparation in
: lcdeml Cabinet | Prime Minister Minister Pakistan  |Pakistan is: ~
i . 5 - z e MISIUAL S| 19
:! How many member countries are there in SAARC?
T . it - %) .
E| i Jyl Uz 7 :4‘-%,35’(@&-5(&4 20
': Economic justice | Political slavery Extremism Materialism | The basic aim of Islamic Economic System is:

Vs




16

18

/{Uu A-a ;L..;y}l
v (du*)u_/l/’l?’

80 AF &5 02:30
( Part-1 d‘,“\.ma) F-—SD_M

Write short answers to any EIGHT parts.

What is meant by gross domestic product?

What is meant by depreciation allowances?

What is meant by circular flow of national income?

How the transfer payment can be beneficial?

What is meant by barter system?

What is credit money?

DilfTerentiate between the convertible and inconvertible money.
How a traveller cheque can be helpful for any person?

What is meant by bank?

What is Qarz-e-Hasna?

Differentiate between schcduled’and non-scheduled banks.
Why interest is forbidden in Islam?

Write short answers to any EIGHT parts.

Define private finance.

Write four sources of non-tax revenue.

Write four principle of taxation.

Write four advantages of direct tax.

Define globalization.

What is capital account?

Write four disadvantages of international trade.

Write two differences between national and international trade.
Write two names of small and medium enterprises of Pakistan.
Write importance of agriculture in Pakistan in three lines.
Write four causes of low per capita income in Pakistan.

What is tax culture?

Write short answers to any NINE parts.

Write the names of methods to measure economic development.
Point out the four factors influencing economic development.
Write the definition of developing economy in three lines.
Write any four benefits of motorway.

What is meant by labour mobility?

Wrile the names of four important functions of State Bank of Pakistan.
What is meant by inflation?

Wrile four sources of revenue of Provincial Government.

What is meant by balanced budget?

What are four important exports of Pakistan?

What is SAARC?

Deline the importance of justice in Islam.

Whalt is socialism?
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Part - II, Attempt any THREE questions. Each question carries 10 marks.

Explain different concepts of national income,
Differentiate between private and’public finance.
Write problems of agricultural sector of Pakistan.
Write the problems of labour force in Pakistan.
Write the sources of revenue of Federal Government.
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